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e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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QT 3397 :

() 39 J97-97 H 9GR GUSI H [FYISd 1397 797 8 | @ve &, @v8 &, @S T 3K
Gvg g |

(i) 3G Y99-99 7 FT 26 F¥7 8 |

(iii) G4 go7 a8 |

(v) Y% 9 & 3% 3q% i3 T T & |

(v) ¥ GEI1 @7 7% A TG-FIT §97 & | §AF Fe71 3F T E |

(vi) 397 G&IT 8 T 18 % Ycd% Jo7 3 3% & & | 599 & i Jo7 & I
80 Jogl & 37fers &7 757 FT TET |

(vii) ¥o7 T&IT 19 T 25 7% Jcd% J97 5 b 7 8 | 378 & 9% J97 F I
100 3753 @ 37feres &7 987 &7 =T |

(viii) 97 G&IT 26 HHI=F J97 5 3% H1 & | 399 3 91T & — 26 (A) 37K 26 (B) |

26 (A) 2 37% &7 e/ & 797 26 (B) 3 3% & YT & & | HAITT 1 97
7of 17 W 3G 3T IH-YIAHT F 35T 7] HNorT |

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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©us <h
SECTION A

1. 1815 ¥ AfUehe Flgard I HaeATsti’ 3 Hretel shifd & S Jlgd qmft i

fafa # & fore defim & frm w=i s 2 1
areran
1907 ® foRraem™ H Tiferd 1 Tpar oIl @iell T ? 1

Why did most of ‘conservative regimes’ impose censorship laws to control
printed material associated with the French Revolution in 1815 ?

OR
Why was the ‘Tonkin Free School’ established in Vietnam in 1907 ?
2. HgU ITH IE ARG | IUgfAfEt Sk SuR § i el off 2 1
HAAT
URd T sfiodl Tt & IR guenl § Aietat 3 s=di bl IUATEl hl U °
T galcdTigd sl fohaT T 2 1

Why were manuscripts not widely used in India before the age of print ?

OR

Why were women and children often discouraged from reading novels in
the early decades of the twentieth century in India ?

3. YN@E H G Rt fohd wepr y-farfiehtor o foie Scerft § 2 1
HAAAT
Tora H 3f aeEn et o fofe ha saierf 7 2 1
How are mining activities responsible for land degradation in Jharkhand ?
OR
How is overgrazing responsible for land degradation in Gujarat ?
4.  <fesm o ameiies SRR e A AT 8 2 1
How is community government elected in Belgium ?
5. W& R ufEar it uh gl & Tou foashra =1 e 1 g gohal B 2 1
HAAAT
T T fora & fote foemra o1 cter &1 wehar 8 2 1
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What may be a developmental goal of a girl who belongs to a rich urban
family ?

OR
What may be a developmental goal of a rich farmer ?

6. I T e MM &l 1 Teh-Teh IQTELTT [IRET | 1

Give one example each of primary and tertiary economic sectors.

7. a9 ug faceft faw # 3@ o il | 1
Distinguish between investment and foreign investment.
Qs g
SECTION B

8.  fored o8 Use U9 & &Y T 3ifEded § T 2 SRS I | 3
STt
foIa ™ o R hH TSHITdh IR AERideh T o @IS H 96 T4 ? ST
HIT | 3

How did Britain come into existence as a nation-state ? Explain.

OR

How had schools in Vietnam become an important place for political and
cultural battles ? Explain.

9. IEEdl waed # WU § FhE SRR o=, AiEared 3 R %k &9 H €

&I H AU Uideh 9¢ ? I8N Higd SIS iy | 3
rera

JMufafdes TR &l ft awg 3w # et Sfem 9 ffa-fast @ S

ST 1 TZH Bld S TR 3T ? ISTEN Higd SARel HifT | 3

How had a large number of new readers among children, women and
workers increased in nineteenth century Europe ? Explain with examples.

OR

How were vernacular novels a valuable source of information on native life
and customs for colonial administration ? Explain with examples.
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10.

11.

12.

13.

14.

9 o 3nfler faemma 1 fig & w9 4 fafawior 3= & A8 1 9u HifSy | 3
AU
HY o T W I % IS 1 JUH HIT | 3

Describe the importance of manufacturing industries as a backbone of
economic development of the country.

OR

Describe the role of industries in the development of agriculture.

“gareA e ues Sfea ufsean 2 17 dent Afgd 39 9 sl FI™ETd 38UST | 3

“Resource planning is a complex process.” Justify the statement with
arguments.

TSI | STfd fore TopR 319 9 o Tehdl & 2 3TN Afgd I shifog | 3

HAYAT

TR W H A % a1 & ufgensit i fEufy # F gur gen 2 Sewwi At
ST HIT | 3

How can caste take various forms in politics ? Explain with examples.

OR

How had the position of women improved in our country since
independence ? Explain with examples.

“ArepdTles ST hl 9l Theral afid 3R frsqe el 7 8 17 36 %o i
[EESLUICIIE 3

“Democracies have had greater success in setting regular free and fair
elections.” Analyse the statement.

“Arehc I AFET B hl FAN & ARRAIAS oFael & aw foreft 7 fopeht
w9 H g |” 3geton afgd hed Hi gfee Hfv | 3

“The challenge of deepening of democracy is faced by every democracy in
one form or another.” Support the statement with examples.

Nurturing Success of Every Child https://deekshalearning.com



oDeeksha

15.

16.

17.

18.

TH WTehiaeh THIEA] 1 3fa IR fqasqde &M § ST T w1 AT ? 39
[EELUEARSCACAIE I 3

Why should we use natural resources properly and judiciously ? Explain
your views.

3Thct B & H g 3T TSI ¥ Icud fohT ST Fhd 3 ? Teohral dF UTT <l

ST HIY | 1x3=3
e

WRA H SUSTTRY <hl §E 1 8 g fopal ST &kl 8 ? Tl oI Ul h

ST HINT | 3

How can more employment be created in agriculture sector alone ? Explain
any three ways.

OR

How can the problem of unemployment be eradicated in India ? Explain
any three ways.

“FuT RN R 3T H Tehdl & |7 W HYF Pl qoh Algd ~AR—E
SIS 3

AT

“FuT FRTICHS RIS H THhAT & |7 FH HUA HI dh dlegd AT
38T | 3

“Credit can play a positive role.” Justify the statement with arguments.

OR

“Credit can play a negative role.” Justify the statement with arguments.
ad # foesht faw <l sefdd @ & T g 9 TS99 9 g 33U Y
feregl <fi9 el &1 guiA IS | I1x3=3

Describe any three steps taken by the Central and State governments to
attract foreign investment in India.
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19.

20.

Qug T
SECTION C

TRTeHT el o TRl 3R TS 1 Taenon & fow § e wegy ST

S} g off 2 s hifvu | 5
HAYAT

TRd o fafys vrn 9 foram ofit srifeanfa™n 3 ‘smaga steied’ ° o IR

T forn 2 s hifST | 5

How did plantation workers have their own understanding of Mahatma
Gandhi and the notion of Swaraj ? Explain.

OR

How had peasants and tribals participated in the ‘Non-Cooperation
Movement’ in different parts of India ? Explain.

1920 % R e A fohe YehR TRl refedaeen g: dft A aiashl

A 2 ISTEN FiEd AT <hIFT | 5
HYAT

JeTee] WATE] % G Fois W SR H 4 ol 9gard 9 Heigl sl el hE

THTII 83 ? 3G Higd SATed] hify | 5
HYAT

IEdl SATed § ie o T TR @l H hi¥d o d8 90 W AT §

H TR gaETd Ot 8 S off 2 3een afgd sawen i | 5

How had the U.S. economy resumed its strong growth in the early 1920s ?
Explain with examples.

OR

How did the abundance of labour in the market affect the lives of workers
in England during the nineteenth century ? Explain with examples.

OR

How had widespread use of coal in homes and industries in nineteenth
century England raised serious problems ? Explain with examples.
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21. YNd H IMS 75 ¢ YT WER Bac! W fARau | 1 F1 HEal Sl 3T
LI SIS o G1Y I9eh I & &1 b1 Iuid HIfT | 1+2+2=5

Name the two major fibre crops grown in India. Describe the conditions
required for growth of these two crops with their growing areas.

22, “fordll <u1 & TSI IR i 37 ST a1 SI1ar 2 |7 dehl dfgd e
! TEETd 38T | 5

“International trade is considered the economic barometer of a country.”
Justify the statement with arguments.

23. 9Wd 94 foumel ow ¥ BT TR W qEd i avie HIf | Ix5=5
AT
oaTg i foheel ure fomwaret 1 guH HIfv | Ix5=5
Describe the importance of a third-tier of government in a vast country like
India.
OR

Describe any five features of federalism.

24. THfaRad ol i T T & ardf o €9 H q89H i gHieg i 5
(i) A HiHE
(i) TRmf sreprel g@
(iii) €T

(iv)  TSgaTdt g uref
(v) | ST qref
(vi) T @

(vii) IS sl

(viii) SHdT & ()

(ix) TS ST g
(x)  GHTSETGH 9Tt
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Identify and list the following political parties as National and Regional
political parties :

(1) National Conference

(11) Shiromani Akali Dal

(ii1)) D.M.K.

(iv) Nationalist Congress Party
(v)  Bharatiya Janata Party
(vi)  Shiv Sena

(vii)) Forward Bloc

(viii) Janata Dal (U)

(ix) Rashtriya Janata Dal

(x)  Samajwadi Party

25. ‘SO H WYY hs &9 H BT 8 |7 e IV | 5

“Exploitation takes place in the market in various ways.” Explain.

Qs ¥
SECTION D

26. (A) T AAT ‘@’ IR b T T HRA S THITGh @I-AHA (I8 11 W), |
Jferd fopu T @ | 34 wequnt Rl fAfafiad SR i "eaT 8 ugenee
S 37k GET 9 3k FHig Ei=h 78 W@rsn w fafee 1x2=2

(a) 9 TAM & WA TSI i H1 SAEYE F3TT |
(b) 98 T Tl § A hl Wt L Aol FhAMI T G0 TR 31 |

(B) 3H feu M wRa & UoHIfds W@iaEe § Fefaiad @ 9 et dF

1 s fodl 8 atan e 9 m frf 1533
(i) TOPE - 499

Gi) " - @ R T

(iii) Hem — g 3R 3 &g

(iv) 8eUElg  —  HIFEeRL aIaiis dTeh

(v) T —  3Tfugeh Selt B
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(A) Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress session was
held.
(b) The place from where the movement of Indigo planters was
started.
(B) Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Hirakud — Dam
(i1) Kochi —  Major sea port
(i) Salem —  Iron and Steel Centre
(iv) Hyderabad -  Software Technology Park
(v) Naraura —  Nuclear Power Plant
Fig:  FHECTRIT J97 A gIRETaa ghenteEl & 1o/ Jv7 & 26 & T T/
& | fabegh wier 7971 & I [o71aT

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :
(26.1) 38 TS 1 A9 fARGY, &l Afarara SFT =T 83 |
(26.2) 3F TIM 1 9W fdARgu, &l fid Sl Tt HH O FhEHT 3 TIwE
foRa |
(26.3) TSHIG o 3 T &1 A1 faafgn, S|t fhami 3 dcmrg foha |
(26.4) 3T TF &1 W TIRGE, STET Sl TiE-31¥%h @ f2a 7 |
(26.5) 38 TS &1 AW feifgu, Sgt Sifa agg o feom 2 |
(26.6) 39 TS &1 9W foiRge, S@t 70w fvees ga foorg 2 |
(26.7) I8 TS 1 AW fARGY, T&T YL AT qAT FEITq T 6 7 | 1x5=5
(26.1) Name the State where Jallianwala Bagh incident took place.

(26.2) Name the place where the Indigo planters organised Satyagraha.

(26.3) Name the place where the peasants started Satyagraha in
Gujarat.

(26.4) Name the State where Bellary Iron-ore mines are located.

(26.5) Name the State where Kochchi Sea Port is located.

(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the State where Durgapur Iron and Steel Plant is located.
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T E. 26 h fom For question no. 26

A T {@T-AA (TSR )
Outline Map of India (Political)
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